 Total number of printed pages—8
4 (Sem-6/CBCS) HE 4 (IB)

2024
COMMERCE

(Honours Elective )

Full Marks : 80
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions: 1x10=10

©eTS SERS TR Ged foall 8

(@) Which one of the following is the oldest
international trye theory ?

were frd PIECo! @Wvﬁfﬁ‘m@rﬁ

(AR O ?
(i) Comparative advantage theory
IR A O

Contd.



(d) The G20 Summit for the year 2023

(i) Mercantilism theory | | s Tl B :
IR OF 2039 5R A fr-20 MW wrfe
(iii) Absolute advantage theory H E.in_c“fl
oI HRHl g _ % ()  Japan (FI=i)
(iv) Heckscher-Ohlin theory = | - (u) I.ndf)nesia (RIS )
- Heckscher-Ohlin g (@) India (SF)

- iv) Pakistan (sfifE )
(b)- In which year product life cycle theory (tv)

, (e) The IMF started functioning in
was developed ? |
79l IMF SIS Si9s
ANG I bF OEO! (@b 2T = 022 2 | — | S
( ; (i) December 1945 (1945 599 rT)
] 1972 (343 /. Lo <\
G : ,f\%\ (@) January 1946 (1946 51 @ITR)
0 78 (559%) S < .
(s 18 ) A R i) o MBreh 1947 (1547 S Tea)
0 (%90 e R - _
() LU0 A (iv) April 1946 (1946 bq GfFm)
(iv) 1976 (s»av) &
* () environment is beyond the control
(c) Which of the following nations is not a of the business.
member of ASEAN ? IR (Fq® A fFEEes qifRTe |
(i) India (9F) (i) Internal (STSTER4)
(i) Brunei (1) (i) External (JifF)
(i) Vietnam (feratais) (i) Micro (JRGAM)
(iv) Laos (3iep) 7 | (iv) Macro (RANMT)
4 (Sem-6/CBCS)HE 4 (IB)/G 3 Conid.
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(9) The foreign direct investment includes (it)  total of all the visible item of trade
oo QUi [RieTe GO 2 | | ks R
(tij) borrowing
() tangible Goods (7R =iey) A9 (Rl
i) i_ntangible- Goods ( 45) (iv) ;g&?nomous and accommodating

(i) human resoﬁrces (ST #7) FIeHItTe S% AN 2[R

() intellectual property (GIER IR 1) Answer the following questions in about 50

B o i : words : : 2x5=10
rite the rull form of ASEAN. ] ~
_ TS TR ST Ued 50 Bl I *7 foede
ASEAN 3 5= sits1 ot | ' GRIE P
() Import quota is considered‘ a tariff tool ()i SateEpoNbasIFpIITeIplc s TolBAARC
of international business. (Yes/ No) SAARC ¥ 75/ 2i4ld IS Tz <= |
o e Why do nations trade internationally ?
S (b SIS qifdem @b et Ty
. Gt Jfe AT R SEos Sid R T 2
AT 9 | (&%) 9qu%) : e,
(c) State the meaning of ‘tariff’ in
0) The current account in the balance of TilmpitonEl Dl
payments ___ . BSOS ATETT (IS W = oY B4 |
3 *[Rreiig I 5 (d) What are the main purposes of special
RIS 21 Bfere RBIPACD 27| economic zones ?
() merchandise trade and services R St e e o 5 e
TS AT TG e e (e) State two objectives of WTO.
; WTO 3 75 Sy fovl |
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3. Answer any four questions from the
following in about 150 words : 5x4=20

Oe S GRS (el BIfE6r 2%E Ted @0l HHE
foow &l ¢

(@) Write a note on green field investment.
FCE CF9 RN 92/S 96l (Gl &7 |

(b) Explain the objectives of SAARC.
SAARC I ST F™ACS 3t 1 |

(c) Write a note on positive impact of

globalisation.
(TR -2eE ¢o[ e «f6 (Bl i |

(d) Distinguish between balance of trade
and balance of payments.

Aifeiers ey S s e reE #if
ferr -

(e) What are the various sources of trade
finance ? Explain.

TR e [fen Sz Raw SiEisa -

<41

- () Explain the benefits of international
business.

SEEifo IS Aremes i 3oh 3 |
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4. ‘Answer any four questions from the

following in about 600 words:  10x4=40

woTe GRS o[ [reiTal bIfHbIT Ued $oo WH{
fooge o7l ¢

(a) What do you mean by international
business ? Explain the various modes

of entry into international business.
| 2+8=10

TS e aifeie 3 feg@t? T IO
o RifeR zre a3 =1

(b) Explain the role of FDI in promoting
international business in India.

CeIe EEifos Jldend dARS (Fqo
@R eropE [l (FDI) S gl il
5 | :

(c) Explain the objectives and functions of
WTO.

) Qlfeiey 7igZ (WTO) 3 Srsl) SIS SIFed
ST N

(d) What do you mean by product life cycle
theory ? Explain the defects of product

life cycle theory. 3+7=10
A b ©F JFIE [ Je? ATESRS b

e Rfen S Rac 990 41
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(e) What are the main objectives of the

(9)

(h)

4 (Sem-6/CBCS)HE 4 (IB)/G 8

Special Economic Zone (SEZ) ? Discuss
the contribution of SEZ in economic
development of a country. 4+6=10

R wieftfos e e ST [ /2
Q2 (TF SIS SaEe SEZ 9 SIWiR [RIC
AN 41 |

Discuss the various reasons for

implementing tariffs in international
business.

wesifes Adere ¢F SiE F99 [ed
FRePTIR R SACeTve <1 |

What are the objeétives of World Ban_k %
How has it assisted the developing
countries ? 4+6=10
4 @ S [ 2 i G (@S
G T G R FAITO! S92

Explain the role of information’
technology in international business.




